
20 апреля.
Классная работа.



7 + 10 =            63 – 3 =
6 + 21 =            75 + 1 =

Какой из примеров лишний?



7 - 1 = 6
уменьшаемо
е

вычитаемо
е

разност
ь

разност
ь



Уменьшаемо
е

Вычитаемое
Разность



37

10 ?

№3
.

37 – 10 = 27(км)



 Ответ: всего 58 

рублей.

- 8 р.

 - 50р.
?

 8 + 50 = 58 (р.)

 
№4.



 15 – 3 =12 (р.)

 3 р. ?
 15 р.

 Ответ: 12 рублей булочка.



  

Самостоятельно 
  
 I вариант  - найти сумму,     II вариант – найти 

разность



 

Я узнал…
Я научился…
Мне понравилось…
Я затруднялся…
 

Оцените свою работу на уроке.



Молодцы! 
Вы хорошо 
поработали!


